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QUESTION 1

Documentation of a function point count can include:

A. ldentification of missing source documentation

B. Each data function and the number of DETs and RETs

C. Each transactional function and the number of DETs and RETs
D.BandC

Correct Answer: B

QUESTION 2

A group of data is referenced and updated by application A and application B. This data is only referenced by
application C. For which of these applications is this group of data counted?

A. Applications A and B only

B. All three applications

C. Counted as an EIF for all applications and an ILF for Applications A and B
D. Counted only for the application that updates the largest number of DETs

Correct Answer: B

QUESTION 3

Control information is defined as data that:

A. defines an elementary process of the application being counted

B. influences an elementary process of the application being counted

C. controls an elementary process of the application being counted

D. does not influence an elementary process of the application being counted

Correct Answer: B

QUESTION 4

A development project creates an application with 7 low Els, 4 high EOs and 7 low EQs. Additionally, 5 low EIFs are
referenced and 2 high ILFs are updated. What is the DFP?

A. 100
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B. 125
C. 135
D. 142

Correct Answer: B

QUESTION 5

A database table is maintained by the application being counted. It has state code as the key attribute and state name
as the only other attribute. How would this table be counted?

A 1ILF

B. 1 RET of an ILF
C.1EIF

D. Not counted

Correct Answer: D
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